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1. Draw a model. Then write the numerical expressions.

a. The sum of 8 and 7, doubled b. 4 times the sum of 14 and 26

] -

Q+1 | WMok
(8+7>XQ 4 x(\4+ab)

c. 3times the difference between 37.5:and 24.5 d. The sum of 3 sixteens and 2 nines

- ’ \ B rlé ‘\ BIENE \

\.,M_,\/,-«-/

5735)(2? 5 -a4.5) (3xi0)+ ()

e. The difference between 4 twenty-fives and 3 f. Triple the sum of 33 and 27
twenty-fives

(o5 | 25 [a5]as] - |
Ywm 20,427

(‘!\(&55 ( 3xa;) 7 (531X 3
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2.  Write the numerical expressions in words.

Expression Words The Value of the
Expression
a. 12"(5"3"3)5) "X Hmes tnhe sun ol 260
& ond A5
b. (ngéZ)xll N RNvnes the CLICQC(‘@X\C_.{_,, 6550
of LA cnd VR
. (45\4’053“23 6\33 Frmed e S o 9’1;506
ub and 55
d (30x2)+(8x2) ol BO vwwoos
Lo+ b +:;f(d é‘?ﬁxmé o

3. Compare the two expressions using >, <, or =. In the space beneath each pair of expressions, explain how
you can compare without calculating. Draw a model if it helps you.

a, 24% (20 +5)
a4 x A4S

©,

ond HYne V\{%\(\“\' (5

EAVSHERTS GQY‘QC;&&"Q,(“ blla. s
‘B oaroups 2F as,

(20 +5) x 12
aL x\x

24 cOUARS o0 2%

b. 18x27

®

Tae. et 15 \essp

ble.

20 twenty-sevens minus 1 twenty-seven

Goram) - an
exan

c. 19x9

(“;g:\\r\*qr- T vGxan

EREREEEEEE

3 nineteens, tripled

QSV\\OD x D

qliabied  TalElel Wl gl
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 NYS COMMON CORE MATHEMATICS CURRICULUM. —~ Lesson 3 Problem Set

4. Mr. Huynh wrote the sum of 7 fifteens and 38 fifteens on the board.
a. Draw a model and write the correct expression. fqu/b ) -+ /3 X /5)

7 Biffecns
efsls] T ﬁ |
3%’&?61‘}3
(EIE I e =
5. Two students wrote the following numerical expressions.

Angeline: (7 + 15) x (38 + 15)
Meiling: 15 x (7 + 38)

Are the students’ answers equivalent to your answer in Problem 4(a)? Explain your answer. ‘
ﬂngzlme'ﬁ angwer (s neb Corred Me i Ling's answer
wouldl b @,qué\lal‘?ﬂ‘f” ‘lse(::ausa, you woolll pe el (M+2§ m‘@“\ﬂ\
\%\‘.‘30

6. A box contains 24 oranges. Mr. Lee ordered 8 boxes for his store and 12 boxes for his restaurant.
a. Write an expressign to show how to find the total number of oranges ordered.

(24 X#) r (o ¥ /2) oR au X (€ +12)
OR A4 KA O

b. Next week, Mr. Lee will both double the number of boxes he orders. Write a new expression to
represent the number of oranges in next week'’s order.

(i P+Grx ) x2 or @4 x20)n2

c. Evaluate your expression from Part (b) to find the total number of oranges ordered in both weeks.

Week. | 3 (1"*“303”1%%0 0raNG 5 HEO
Week 2! (24xdo)¥a = %O@r@j@ + ?Qai)
f‘éf e,;;ei) Om.’j/f‘“ﬁ

M/’” Lee OfO/f’i’PC#[}"}";"Z) @/”Qf‘f/ﬂ é@)% W@“’W%‘ﬁ'
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Name Date
1. Draw a model then write the numerical expressions.
a. The difference between 8 forty-sevens and b. 6 timesthe sumof12and8

7 forty-sevens

w7 147 47|z (47497 [0 ] 47 ) QMT ’ J

; g
Sy, | ex (ate)
(8xu7)=(7%47) T

2. Compare the two expressions using >, <, or =,

62 x (70 + 8) @ (70 +8) x 26

Tts oreater Than becaep the et sde showd
ba groups ot 7D+8) bw% The Y“!Q bt 0M5 Ms
2lo-Groups 0~F 70+%)
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NS COMMON CORE MATHEMATICS CURRICULUM

Name

1.

Draw a model then write the numerical expressions.

~ Lesson 3 Homework

Date

a. The sum of 21 and 4, doubled

a1 +Y
(A4) XX

b. 5 timesthe sumof 7 and 23

N

T+a3
5x(1+33)

¢. 2 times the difference between 49.5 and 37.5
49.5-31.5
X (4.5-37,5)

d. The sum of 3 fifteens and 4 twos

g

\‘E\MT%W\»S\ AE\E
(3x18)* (4x2)

2]

e. The difference between 9 thirty-sevens and 8
thirty-sevens

37(31

31051

4137131

J1

7

L

M 337137 3713710 5’7\\'9
(@xan) - (4xs1) 7

f.

Triple the sum of 45 and 55

ma

us 55

(5+55)*3
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2. Write the numerical expressions in words.

Expression - Words The Value of the
) Expression
a 10x(25+135) [den Fimes Fhe Sum @*-?
&lg af\d 3"5 ’bo
b. (98-78) x 11 e& ven "hmm The oifferen
Fween agand 78 230
¢ (71+29)x26 +wen+ -5 -hrnfu Fhe.
S el and s 2600
d (50x2)+(15x2) [4+he Sm @.& 50'\'\)005 @hd
15 fwos 120

3. Compare the two expressions using >, <, or =. In the space beneath each pair of expressions, explain how
you can compare without calculating. Draw a model if it helps you.

(40 +2) x 39

a 93)((&9_4'.3) JO

Tt s 8rea+er than bhetause +he ng—g Slo\e %howf)

93 groups ot (Hora) but the rght side o Iy

24" 4roups ot (U0

b. 61x25 60 twenty-fives. minus 1 twent
7 COXDE ) Ll\héj

1‘:-%: \.% Wa%r Than b hg,@ -HnL Fade

é; .
%é e p\ l-—\wevs -Qw@ ol ka Y“l@)ﬁ}'
de & oo twerty -

\J

(VPH M‘nus FLoen

: i i ical expressions and compare expressions
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| NYS COMMON CORE MATHEMATICS CURRICULLM .~~~ lesson 3 Homework |

4. Larry claims that (14 + 12) x (8 + 12) and (14 x 12) + (8 x 12) are equivalent because they have the same

digits and the same operations.
a. IsLarry correct? Explain your thinking.

Loee S aoere ot becouse uOU. OLe d_cb‘\n%
A Cleten Q()e_ﬁc»\~t@wé W e scame \(Q(‘Aps

prodocing AilCecent ansuwed o,
b. Which expression is greater? How much greater?

(\ W +~\’af\ % G&g +~-\;§§5 2
(\Um\;Q . (%x\ad ’
ale x a0 W% o+ oy __\fll;%
DO ot \L\D%
-+ Al
alo Y
(1 H(&\ a Q%’ *"\iﬁ s aSle ey ez.,.c;x,;\*ﬁ.f !
\\(\C‘A“(N\ C\L\‘ x\’::{ n C - o ~ - &(.Qg—mm
NBY + (2, i

: ( i ical expressions and compare expressions
COMMO N Lesson 3 Write and interpret numerical exp ny
using a visual model. 2.8.16
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Name Date

1. Circle each expression that is not equivalent to the expression in bold.

a. 16x29
29 sixteens 16 % (30—1) (10 x 29) — (6 x 29)
b. 38x45

LB AN AT i
el

((38 + 40) x (38 +5) (38 x40} + (38 x 5) (@5 x(40+2)) 45 thirty-eights

c. 74x59

74 x (50 +9) 74 x (60— 1) (74 x5) + (74 x 9) 59 seventy-fours

2. Solve using mental math. Draw a tape diagram and fill in the blanks to show your thinking. The first one
was done for you.

a. 19x25= _I_ll___ twenty-fives ] b 24x11=_Ltwenty—fours
5 |25 |25 | s [ | VA l&t{ ;QL\‘ . | Nrﬂi‘“\ \
1 2 3 .. 19 20 s ﬁwﬁ"?\@@/ 1‘*"%’5&"“
Think: 20 twenty-fives — 1 twenty-five. Think: __’_O_ twenty fours +__l__twentyfour
= a0 x5 1 x25) = 10 x4 L x24)
- 500 - 35 - HIS | aup ., 9y . 2l
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79x%x 14 = ’Lf_\ fourteens

C.
SO Lourteens

e e —

ENEI K PR Y
A Tonc veens

Think: _ O fourteens — 1 fourteen

(30 x14)-(_1_x14)

nao - WO

d. 21x75=__ga\ seventy-fives
XY oe,sae,,n-\rts—c\\)&j

S [7)

e o o =D
20 severd 'a-r-@\u el

| De¢

Think: QQseventy-fives + | seventy-five

=(_AOx75)+(__| x75)

\so0 15 - 1515

Define the unit in word form and complete the sequence of problems as was done in Problems 3—4 in the

lesson.

a. 19x15=19 QQ‘\Q&X\)

\‘\QQ\CQW 5

Think: 20_$:Cteens -1 G Cheen

=20x \5 )-1x_ \9)

SO0 \5 285

b. 14x15= 14 QQ’ve_@é
T (Qteens

5|18} 18} 1 4

Lis\ s \1g
=

10 LQf%cens

Think: 10 Q:Q*-Cﬁsr\’: +4

4 Sfceens
Q:Q‘\’CCLM

(10x\5 )+ (@4x_\S )

O

V20 + O

c. 25x12=12

B M\»\; e
q\ \

it S
\oxsTas\

\gs\as\as\
Think: 10 exg&% Q\deﬁ- L ;M_&% —g\ou

=(10x_ AN )+ (2x.AH )

=_ A0 R 8 = 300

18x17=18 _“Sevyerlesng
Mr\%ﬁgms

A nl . e

\Y Sevenveansg
Think: 20 gﬁdev\&ta\_‘:— 2 ée;)@\'\e_ens

= (20 x \ S )—(2x\ ! )

= 200 24 Ol
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4. How can 14 x 50 help you find 14 x 49?

Onee T F\r\a\ 50 ‘FO\M’*@@\\.S T CaNn SU,‘Q‘\T“\'M"{’ l ‘goLL\’JQ?ﬁ(\ O-f\cl
1‘{' wll 3.\;@ ™W\& Liof "(:()\L(J(“ee‘\fbv

5. Solve mentally.

a. 101x15=___ 1515
(oo x15)+ A x15)

b 18x99=_ |, 1 ¥
(1e0x19) - (1 x18)

6. Saleem says 45 x 32 is the same as (45 x 3) + (45 x 2). Explain Saleem’s error using words, numbers, and
pictures. pirsin

45 x22= 45 thi ‘%\, “twos |40l ‘3;2[,“ \Z’.)T\ \55"3 . \5\
(H5x 2)r (U5 x 2) =15 Fives 45 hieky s s fues
T“\'\ﬁ\f are \r\u‘\ H.e SONNC, \occaus& U5 hy (‘\*\l-{-wo:; dees na’i" e%wx[ ‘{‘A us ‘?\VCS‘

7. Juan delivers 174 newspapers every day. Edward delivers 126 more newspapers each day than Juan.
a. Write an expression to show how many newspapers Edward will deliver in 29 days.

(174 +1a) Xag

b. Use mental math to solve. Show your thinking.

T firsk added 114 and 136 o oet 200, Voen T
Mot \‘19 \@A 200 “1M@5 A4 {786{" <Z { 00.

OMMON
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Name Date

1. Solve using mental math. Draw a tape diagram and fill in the blanks to show your thinking.

a. 49x11= L{ [l elevens 50 ) vens b. 25x13= l Eb twenty-fives @ .
13 WS
\ """““""‘Q”Mmm/ )
) IIIU v o2 i ‘25‘2595900
' L| q'elevens ' X
Think: 50 elevens — 1 eleven Think: __ 10 twenty-fives + 3 twenty-fives

(B0 x1)- (| x1) =(L0O.x25)+(_5 x25)
550 -1l -.539 280+ 75 - 335

COMMON Lesson 4: Convert numerical expressions into unit form as a mental strategy ny
for multi-digit multiplication. 2.8.26
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Name

Date

1. Circle each expression that is not equivalent to the expression in bold.
HAAR bkl

a. 37x19

37 nineteens

b. 26x35
35 twenty-sixes @+ 30) x (26 + 5]
c. 34x89

(Gixs)+ (34x3D

34 x (80 +9)

37 x({20-1)

(26 x 30) + (26 x 5)

34 x({90-1) 89 thirty-fours

2. Solve using mental math. Draw a tape diagram and fill in the blanks to show your thinking. The first one

was done for you.

a. 19x50=_ 19 fifties
50 50 50 50
1 2 3 19 20
Think: 20 fifties — 1 fifties
(20 x50)-(_1 x50
1©00 - 50 - 950

b. 11x26= l t twenty-sixes

Qo 3| 3¢ |2 | 26
b2y v (O Y\
Think: 10 twenty-sixes +_‘twenty-sixes

=(_LO x26)+(_1. x26)

2l 2310

RA60 +

) l COMMON Lesson 4:
«w CORE
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c. 49x12= '_'l ﬂ twelves

12 )]
HY 50

Think: 50 twelves — 1 twelves

i ffia) o
Y -

(50 x19)-(_1 x1)

- 400 - lda = H§E§

d. 12x25=_{ &  seventy-fives

2 ief

10 ! \2

R i

‘ iz | n e

liw%stf

Think: 1 twenty-fives + 2_ twenty-fives

(O x25)+(_& x25)

. 250, 60 . 300

3. Define the unit in word form and complete the sequence of problems as was done in Problems 3—4 in the

lesson.

a. 29x12=29 “’% L € f'u(—'f_;

Think: 30_X &k 1 X lé

=30%x | & J—(1x )& )

- 36 - & - 34¢

b, 11x31=31_€J|even ¢

Think: 30 N/i’ +1 X”

=@ox ! y+ax 1)

330 . I . 3\9

c. 19x11=19 £leyens

Think: 20 ¥ 11 -1 % 11

cox M y—ax )

220 - 1l . 209

FA AN .
d. 50x13=13_ W%t e84

Think: 10 X 50 43 x 60
=(10x 50 )+(3x59)

- 500 4180 - 680

COMMON Lesson 4:
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 NYS COMNION CORE MATHEMATICS CURRicUlUM  Lesson 4 Homework |

4, Howcan12x5()'f§vog_fi0nd12x49? (\5’0)1‘ |9\> - ( | Y ‘2>
N L (LOO — 12
\]9. Ep’"l 0ov 12 [ i : 588

R €Tl
5. Solve mentally.
. 16x99-_ )6 8H
Qoowe) ~(1 %16
0O — llo
b, 20x101=___ RORO

(oo x20) HI% 205
2000 + 20

6. Joyis helping her father to build a deck that measures 14 ft by 19 ft. Find the area of the deck using a
mental strategy. Explain your thinking.

Y19 | olve 1120 firsd | Then

14 %200 «Q”‘**) dp ke oua % becaust
L;LSO I\ s Y %%01 and ot 20.

C&ﬂ@@
S b St T &0\ 20 bémuzf:@ E
s AT

7. The Lason School turns 101 years old in June. In order to celebrate, they ask each of the 23 classes to
collect 101 items and make a collage. How many total items will be in the collage? Use mental math to

solve. Explain your thinkin
plainy g Mu ;’”e{) kﬁﬁ Q%» \6 I@O
w;ﬁ

|O) %2 S
(100 \12334«(1# 23 ) | S @% @ 1o hed
w@ mu P
%00 +23 gy 2% ond Meﬂ

M&M e lost 23 o

3 ?;;‘\“\'EMS
*2 %mo\ Ar"%{«?’ ‘\31(@‘3?'@}

COM MON Lesson 4: Convert numerical expressions into unit form as a mental strategy n
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. Estimate and then multiply.
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1| 29x11= 200 23| 801x31= | AH000
2| 29x21= 600 24| 803x31= 2.4,000
3| 29x31= 100 25| 703x31= | 9\ 000
4 23x12= 200 26| 43x34= 1200

5| 23x22= H00 27| 53x34= |500

6| 23x32= 500 28| 53x31= l,5600

7| 23x42= 300 29| 53x51= a5 00

8| 37x13= 400 30| 93x31= | &7100

9| 37x23= 200 31| 913x31~= | 21000
10| 36x24= ?00 32| 73x31= A00

11| 24x36= 200 33| 723x31= | 21000
12| 43 x11= 400 34| 78x34=~ 400
13| 43 x21= $00 35| 798x34= | aH000
14| 403 x21 = 3000 [36] 62x33= 1860

15| 303x21=~ 6,000 |37 642x33~ | 18000
16| 203x21= H,000 |38 374x64= 24 000
17| 41x11= 400 39| 64x374= 24,000
18| 41x21= 100 40| 740x36= | 32000
19| 41x31= [3.00 41| 750x36= | 33.000
20| 401x31~ | 12000 |42| e5x680= | 44000
21| 501x31= 15000 |43| 8a9x8a= | 64000
22| 601x31= 14,000 |44| 85x840=~ 1 Z);ODO ~

© Bill Davidson
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Name

Date
1.

Draw an area model and then solve using the standard algorithm. Use arrows to match the partial
products from the area model to the partial products of the algorithm.

a. 34x21
aY 34
\ EL
S X i 1
20 Lo €O S5 - (.Q%L('_\)
-.ll i
b. 434x21 34,
y q244 434
x 21
0| WO Tl

L2y
A 9680
- e S
2. Solve using the standard algorithm,

“WQ‘ L\
a. 431x12= S\fl;_l b. 123x23=_J KAG

Y20\
NTRCe o
b lo2 369 _ro%
T U360 vt b O GA M
T saa ‘ +9360
) A8 A UG B

¢ smx32-_3 4%Y

Lesson 5:

Connect visual models and the distributive property to partial
products of the standard algorithm without renaming. en a eny 2.B.38
Date: 7/4/13 g g it
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3. Betty saves $161 a month. She saved $141 less each month than Jack. How much will Jack save in 2

years?

BT ¥
et Tack o« aveel ¥ 302 per wonth
¢

B‘é? H"J \; — W:’(p I J
| Unit = 302

et . mm - u;@’,.”w . S : .
Tack [ 1 ”i% ) | Adonmts T A4 X302 7248
€Wol + 14 =302

g 302
PN
Jack caves” 7 2@ _x 24
Y n
2 | 2 0F
Years, | + O 40
7 R
4. Farmer Brown feeds 12.1 kg of alfalfa to each of his 2 horses daily. How many kilograms of alfalfa will all
his horses have eaten after 21 days? Draw an area model to solve.

2 120 + 12,1 = 2.2 kg
! ath -

K 2
20| Y g2

24z
x & 4Q

AR - .

50 8.4

lunit = mgv.&kg
Q0 oniks = HEH ‘7
f;:fg%hhﬂﬂ‘gﬁ - ‘)Qg"& k?

At the hardee will Aﬂt Vi
Coten FTOF. 2 k‘ﬁ ot (}/aﬁ@ (o
’n 2.4 a‘fa@j!g

Lesson 5: Connect visual models and the distributive property to partial

. COMMON ot | ny
products of the standard algorithm without renaming.
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" Name

Date

1. Complete the area model then solve using the standard algorithm.

a. 23x31=

A2
| 23 —F 23

30 70 —_— 3
I +_,fe,—93-———

b, 143x21=

)

‘ Lesson 5: Connect visual models and the distributive property to partial
gg%MON products of the standard algorithm without renaming.

Date: 10/7/13 engag e ny 2.B.40
(D) BY-nc-

N This work is licensed under a
®© 2013 Common Core, Inc. Some rights reserved, commoncore,org

Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported tLicense.




Name

Lesson 5 Homework [Ei%

Date

1. Draw an area model then solve using the standard algorithm. Use arrows to match the partial products
from the area model to the partial products in the algorithm.

a. 24x21=

\

20

Cad

a4

H4O

b. 242x21=

———y

a4 %

e T

a0

PN

ot o< A A N A
" e TS

2472

x 21
ad 3
HadO

B0% -

2. Solve using the standard algorithm.

a. 314x22=

3

COMMON
CORE

© 2013 Common Core, Inc. Some rights reserved, commoncore.org

b90

Lesson 5:

Date:

213 x32=

b a13x22=_ 3,086 .

S

g dd
AT ‘
+82 460 f
0% b T8 b

Q, \

Connect visual models and the distributive property to partial
products of the standard algorithm without renaming.
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 NYS COMMON CORE MATHEMATICS CURRICULUM -~~~ Lesson 5 Homework

3. Avyoung snake measures 0.23 m long. During the course of his lifetime, he will grow to be 13 times his
current length. What will his length be when he’s full grown?

. A3
o>
5 QCDC,' ,LQ? (\ /)( 13
> + Q.20 O ba
.99 FA30
fo C;qucf

e oSl be 2.3% v~ dhen e is Col\ cgowdn.

4. Zenin earns $142 per shift at his new job. During a pay period, he works 12 shifts. What would his pay be
for that period?

e st v eresrov sy BT
"

| AR WP
“’A\nm

N s 5 e s

el

/$’49\/$“-19\ c e o t@m&g\

m
L sl

SATIRA U Wis Q(n& Loouwlad \oe.
Fod Qe Wl peried,

T COM MON Lesson 5: Connect visual models and the distributive property to partial ny
products of the standard algorithm without renaming.
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 NYS COMMON CORE MATHEMATICS C

Solve,
1| 5x100= 500 23| 5000-50= | 4750
2| 500-5= 495 |24| 50x99= ) G5O
3 5x 99 = 495~ |25 80x100= rfelee
4| 3x100= 300 26| 80x99 = 79 a0
5| 300-3= 291 27| 60x100 = Aeolele
6 3x99= 291 28| 60x99= 940
7| 2x100= a0 29| 11x100= 1100
8| 200-2= 19 |30] 1100-11 = 10 %9
9 2x99= 19% |31 11x99= 1089
10| 6x100= (OO 32| 21x100= 200
11| 600-6= 544 33| 2100-21= 2019
12| 6x99= 594  |34] 21x99= 2079
13| 4 x100 = OO |35 31x100= 2100
14| 4x99= 39 |36 31x99= 309
15| 7x100= 700 |37 71x100 = 1100
16 7 x99 = 7973 38 71x99= 1039
17| 9x100 = OO |39 42x100 = 21200
18] 9x99= 591 40| 42x99 = 158
19| 8x100= OO |41 53x99= Sa~t
20| 8x99= 79 |42| 64x99= (o 330,
21| 5x100= SOO |43 75x99 = 745"
22| 50x100 = JOOO |44 97x99= 9LOB

COM MON Lesson 6:
< CORE Date:

@ 2013 Common Core, Inc. Some rights reserved. commoncore.org
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Connect area diagrams and the distributive property to partial
products of the standard algorithm without renaming.
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NYS COMMON CORE MATHEMATICS CURRICULUM ~~ Lesson 6 Problem Set

Name Date

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from your area model to the partial products in the algorithm.

a. 48x35

21440 +1440

b. 648 x35

L48
5| aad0 | x 35

4o \‘l
3°J’“ | 53530

2. Solve using the standard algorithm. y
a 758x92  f5¢ c. 476x65 | :’

b. 958x94 75% d. 547 x 64

L 64
3433 e
g6 &go ) €3

- 225320
QOQﬁS& 5()@%‘”

Lesson 6: Connect area dlagrams and the dlstr|but|ve property to partlal

products of the standard algorithm without renaming. ny 2 B. 50
Date: 7/4/13 enga.ge
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3. Carpet costs $16 a square foot. A rectangular floor is 14 feet long by 16 feet wide. How much would it
~ cost to carpet the floor?

I6 H:txm /m+x#lé a&‘z
— 6K
(LES - 134 {:Jr‘a PR Uuers = 34X (4 [ l ,

40
i =5 %“EW

i
A
U
160

aad

4. General admission to The American Museum of Natural History is $19.

a. Ifagroup of 125 students visits the museum, how much will the group’s tickets cost?

L unt =919 32
o6 wite = 136 %14 =215 35
1355
35
The Qrougs AY\\C‘kf:k"S w\\\cos‘{“#&ﬂ]f),

b. If the group also purchases IMAX movie tickets for an additional $4 per student, what is the new total
cost of all the tickets? Write an expression that shows how you calculated the new price.,

2

(19+4) % 1358 135

= AAX|AD
- 3‘875 7

F
The new total cOS\’ 0'9 H\@‘\\cke)‘a nll \03* aqu

; COMMON Lesson 6: Connect area diagrams and the distributive property to partial

products of the standard algorithm without renaming. ny
CORE o e engage 2851
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| NYS COMMON CORE MATHEMATICSCURRICULUM ~_Lesson 6 Exit Ticket |

Name Date

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from your area model to the partial products in the algorithm.

a. 78x42= 3,. X1 lp

78
<
2 1y X442
\‘—————
154 5 150

4o | 3120 \— 7 *3IO
| 327 b

b. 783x42=_ 3 FE (o 783

1%

Lesson 6: Connect area diagrams and the distributive property to partial
COMMON 8 property o p

products of the standard algorithm without renaming. ny
CORE Date: 7/4/13 engage
T This work is licensed under a
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~ Lesson 6 Homework [(i0)

Date

Name

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from your area model to the partial products in the algorithm.

a. 27x36=
AT 27

¢ e 2 T x 36

Vo | —lth
| . I >+ 8/0,
30 TG 2

| p—— . s

b. 527x36=

. saT
! 15810
30| &1 0 e 972

2. Solve using the standard algorithm. &1 g O
c. 758x46 f"‘} %}

a. 649x53 |
(2 45 v 9y

X 03 "’;%i 3
L1 36320

. 3 ‘%'"2;5@ d. 529x48 “"":53 ?jf} C’};éy
He% 34377 529

.m,.m,&_ f’g 9 ; ad

Connect area diagrams and the distributive proferty to partial

Lesson 6:
products of the standard algorithm without renaming. engage ny 2.8.53
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" NYS COMMON CORE MATHEMATICS CURRICULUM — Lesson 6 Homework

3. Each of the 25 students in Mr. McDonald’s class sold 16 raffle tickets. If each ticket cost $15, how much
money did Mr. McDonald’s students raise? b
¢15 24D

lunid = #15 Kl X5

.‘ 98 /20O
(#16x10) x 25 léfﬁS FHE0 QO
¢ A O

PO ¥ 28 7600

His, “Aodents col Sec ﬁ’(@@@@)

4. Jayson buys a car and pays by instaliments. Each installment is $567 per month. After 48 months, Jayson
owes $1250. What was the total price of the vehicle? g

457 x 4p = PAT Al Sb"]
Cb e ;{\ /icgmﬂ

P27 214+ 2250 =228 dlole  TLEE G
+ o”\o}(,ﬁ 50

T =
TThe At corh o FATR | b
Mg Qo LD
¢ 5.2, dlelo Fan, 20
| | +? 1 350
/’"’“’“ H b lo

3 6: Connect area diagrams and the distributive property to partial )

: COMMON | " o . ny

products of the standard algorithm without renaming.

wit CORE Date: 7/4/13 engage 2 B.34
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A # Correct
Multiply.
1 2x10 = 20 23| 33x20= (O
2| 12x10= 120 24| 33x200= L OO
3| 12x100= 1200 25| 24x10= 2140
4| 4x10= 4o 26| 24x20= H 30
5| 34x10= 4D 27| 24x100= 2400
6| 34x100= 34ppH 28| 24x200= 43006
71 7x10= 70 29| 23x30= L9 6
8| 27x10= Q270 30| 23x300= (L,900
9| 27x100= | 27200 [31| 71x2= JU 2
10| 3x10= 20 32| 71x20= 1420
11 3x2= b 33| 14x2= 28
12| 3x20= (O 34| 14x3= )
13| 13x10= 120 35| 14x30= HAD
14| 13x2= Al 36| 14x300= H2 00
15| 13x20= 2bH 37| 82x20= LY O
16| 13 x100 = [200 38| 15x300= UsPO
17| 13 x200 = AlOO |39] 71x600= Y b OO
18| 2x4= g 40| 18x40= 7206
19| 22x4= 2R 41| 75x30= |2250
20| 22x40= 2% O 42| 84x300= |A52 OO
21| 22x400= | Q¥OG |43 87x60= | 51 QO
22| 33x2= (b 44| 79x800= | (A 00
© Bill Davidson
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_ NYS COMMON CORE MATHEMATICS CURRICULUM =~~~

‘LesSdn 7'Sp‘r}i'nt

B o, Improvement # Correct
1 3x10= 20 23| 44x20= B30
2| 13x10= 130 24| 44 x200= 2200
3| 13x100= L%00 |25 42x10= 120

4| 5x10= 50 26| 42x20= 240

5| 35x10= 250 27| 42x100 = 4900
6| 35x100= 3500 |28| 42x200= | ¥Y0O

7 8x10 = 20 29| 32x30= q'go

8| 28x10= 20 30| 32x300= 94600

9| 28x100-= 2300 31| 81x2= 163

10| 4x10= 40 32| '81x20= 1630
11|  4x2= 2 33| 13x3= 29

12|  4x20= 20 34| 13x4-= 53
13| 14x10= 140 35| 13x40= 530
14| 14x2= ad 36| 13x400= 5300
15| 14x20= 220 37| 72x30= A 60
16| 14x100=_ | 1400 38| 15x300 = 4500
17| 14 x200 = A200 39| 81x600= 44,00
18 2x3= b 40| 16x40= (4O
19| 22x3= b, 41| 65x30= 1950
20| 22x30= 660 42| 48x300= | |4 40O
21| 22x300 = 6600 43| 89x60= 5 240
22| aax2-= 88 44| 7ex800=_ | {p 00

© Bill Davidson

Connect area diagrams and the distributive property to partial
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Name

Date

1. Draw an area model, and then solve using the standard algorithm, Use arrows to match the partial
products from the area model to the partial products in the algorithm

a. 481x352

LfOOﬁﬂ_u@O_ | o
2 lgoo O [ 2 |4bZ 5792

ARSI

eeines:

540
50 | 00> 1000 | 50 ;QL)QED;?,], 4300

o - 7
30p 120000 e 200 300 693

b. 481 x302

Hop 80 ]
b 800\!100 2 1962 481

O x 302
20 |1 20000 |00 300 |\ 4420 ;

¢. Both 1(a) and 1(b) have three-digit multipliers. Why are there three partial products in 1(a) and only
two partial products in 1(b)?

T 1o you have no_ tens place so we

Q 'Kcu)é? & € @@u‘§“t©ﬂ m +he )"‘t”(IO

’QDP ns . 7716 w\ﬂolﬁ’ \)& ue (an 65hot,un
w rHh Quﬂ" undreds and ones,

COM MON Lesson 7. Connect area diagrams and the distributive property to partial ny
roducts of the standard algorithm with renaming, 2.B.63
! CORE i engage
Date: 7/4/23 ekl A N
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 NYS COMMON CORE MATHEMATICS CURRICULUM

2. Solve by drawing the area model and using the standard algorithm.

a. 8,401 x 305
L|.

Jo \ . 8,401
| 00
5| no,000 | 200 5 |2
_ x 305
00| O3t 6gpo0|RPO| 30—y 1556300

) l 3,563,330
b. 7,481x350
7000 400 0 | .
250,000 (90.00@ HpoO 50\5%,050 = 2050

2244300
Q‘m’\\'\ﬂ%,b I %)3 l_:'DO

7,481

50

H 00P00 Ropoo | aHp00 \zoo

vz
R i

3. Solve using the standard algorithm.

a. 346x27 3)10“9 c. 346 x207 il?

S 2432

. 5438 ;9300
9,54 2

10 A

N

b. 1,346 x297 d. 1,346 %207

r”’jl X

5 25

z & “2Tb,b A
EEVENIES

Lesson 7: Connect area diagrams and the distributive property to partial ny
products of the standard algorithm with renaming. en a e
Date: 7/4/13
@ 2013 Common Core, Inc. Some rights reserved. commoncore.org
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h computer cost $409. What's the

4, A school district purchased 615 new laptops for their mobile labs. Eac

total cost for all of the laptops?

(2 —_ , ) e
5’ ‘“i_ e \o@\m;:.f’: e $2£>l‘ﬁ;>¢§5’”
x WOH
58535
+ 246000
KXE 538

5. A publisher prints 1,512 copies of a book in each print run. If they print 305 runs, how many books will be

printed?
| 571 &
X H0E
15O
415300
”’“”“TZ"”"C"I """""" LO |

4@(, [l books ool e pmm['-e_d,

6. As of the 2010 census, there were 3,669 people living in Marlboro, New York. Brooklyn, New York, has
681 times as many people. How many more people live in Brooklyn than in Marlboro?

3169 2 498 559
b,z\;,éfgl———— - » ‘5)& b4
32669 4G 20
29352 0 &/49 /
+ a0 490

259%,° 0 1

;\). 44 ’*F, A0 nofe.. @c&@ \e_

COMMON Lesson 7: Connect area diagrams and the distributive property to partial ny
products of the standard algorithm with renaming. 2.B.65
CORE Date: s engage 2.B.65
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. Lesson7 Exit Ticket [sX/

' NYS COMMON CORE MATHEMATICS CURRICULUM

Date

Name
Draw an area model, and then solve using the standard algorithm.

a. 642x257= /é/7//, 994 642

LoO WO A
4&200 25}0 ; /“/ ‘-p“f‘}/’/f 52‘ A
- ] ! azgqaﬁ

1.

Rl
~
Q
G
=
o
o
St
&h
o
5
~L

g

30,000(2 000 |
000 {ﬁ +HoO }A&;g«;@a

S

642

x 207

g9 4
28404

O L A

)J‘,?‘Oﬂﬁ HO0 }_/19,’400

\

A 0O 120, 00¢

/32 93t

b. 642x207=

a0

2.B.66

Connect area diagrams and the distributive property to partial ny

Lesson 7:
gg&l‘ﬁMON products of the standard algorithm with renaming.
Date: 7/4/13
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Name Date

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from your area model to the partial products in your algorithm.

a. 273x346= 273

20 0 2

b (1200 (420 |15] 1638 —— 2228

o 8000,“2“390 120] 1042 MS!DC] ég
o000 | 21000400 21406 —7

300 |2 2l | MDI 5T

b. 273x306= -

20 ho 3

2 o x 306
b 1200 {HL0 |18 138 %,'4053

OO
2,00) (0000|1000 9’00 g1 Qo0 I

c. Both Parts (a) and (b) have three-digit multipliers. Why are there three partial products in (a) and
only two partial products in (b)?

Fart 0. has @ Shree MP%/ /Ofﬁa)ua).g bﬁ USNJ

o At I Hye ones, Ters, and jjun
)/)Sagg@ Sk b oonl has %wa MM@ Preducrs

5 }z ue&ll ?s /n% ones, an
ff,i‘jﬁaf O

Lesson 7: Connect area diagrams and the distributive property to partial
'E COMMON products of the standard algorithm with renaming ny 2.8.67
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| NYS COMMON CORE MATHEMATICS CURRICULUM

2. Solve by drawing the area model and using the standard algorithm.

2. 7481x200=_d, 167,490 b. 7,018 x 209 = |, 466,762 01
7000 . HO@ R0 ) 48 000 o0 10 3 !

| ”’ | 209
O [5bpoo 7960 %2930 k5000 © 140 ‘7;{\ 24‘
q0 [$30,000 [2bP00 17200] 90 73%@%\ 4 1 ’ L
woopo| O [spoo|tbo0| 4 1403 OO

1400000 | 34000 {14000 [300 .
300 LH 6o | ZTEAHI0| | TG4

3. Solve using the standard algorithm. L_" &b
a. 426x357 Y alb c. 426x307

)
S 4o 800

0
ELECEEY YK
4, The Hudson Valley Renegades Stadium holds a maximum of 4,505 people. During the heights of their
popularity, they sold out 219 consecutive games. How many tickets were sold during this time?

-—-4%-j§‘“ 9%b,.595 hickets
5

Sdurdm\l

5. At the farmer’s market, each of the 94 vendors makes $502 in profit each weekent.! How much profit will
all vendors make on Saturday?

' qt{ “The PT‘O‘Q+ gor a\l vﬁ(\clars
o il be MR8,

] COM MON tesson 7: Connect area diagrams and the distributive property to partial

:  distibutive pro; ny
{ CORE 5;2%{?5 of the standard algorithm with renaming. engage 2_5158_

5 B g This work is licensed under a
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| NYS COMMON CORE MATHEMATICS CURRICULUM.

Name

1.

X 530 “FooY XZ/ C,;??ﬁ
Q 900 X 603 37 755
(2. 250 720]2 4 5
% 500 2448 %0
+1 0BHTOO Qo0 0 279 500
099750 | 2402109 14,2 90
) / I T 306635
A}‘T 7 I} 7 LA annd ]
COMMON | ™% ety mitlymits gt nmbes uin tesondort.
pcome | et engage™

Estimate the product first. Solve by using the standard algorithm. Use your estimate to check the
reasonableness of the product.

 lLessongProblem Set |74

Date

T POO X500
= A,L()QQOC?

% HO0a X700
= ;1/8 00000

a. 213 x328 b. 662x372 c. 739 x442
) % 700X 400 % JOOX 400
Ztom00 = 280,000 = A% @00
X 4_3, 28 X ’ )( y A
/704 1527 — T
2b L334 O 4540
.f‘.’fl%%% + 1586009 gf% 5,00
¢ Y627 | E 36
d. 807 x491 e. 3,502 x 656

f. 4,390x741
% 4 000X 700
= 0’1}&'00,000

3502 #390
S reze | x 7
___—W 570/2 Zj?O
22030 1557100 | #5400

F32%5800 2501200 ;éle 000

39LZ37 | 2297212 529909

g. 530x2,075
© 500 ¥, 000

- //0 0(.:300(?
Q2075

h. 4,004 x 603
Y000 X €00
- 97‘7409(? Q9

1# 987x3,105

% /000 ¥ 3,090
= 3’0@% o1/ 19

@ 2013 Common Core, Inc. Some rights reserved. commoncore.org
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2. Each container holds 1 L 275 mL of water. How much water is in 609 identical containers? Find the

difference between your estimated product and precise product. T 1l L. Uﬂ E)W\L
L 15 rol = 12N Sl ~120L e
g armmate @ 1200 % Loy Aeduad ¢ 18718 % 4,69 561 478wl
2.4
! Q”C:}QQCD el ‘ﬁ;fﬁ =T L”t oL %W‘L The actual
12OL ALOL L MBSl d15w
2165000 lorge e rom

3. Aclub had some money to purchase new chairs. After buying 3§'§ chalrs at $199 each, there was $1,068  ¥he c‘:‘,,é-\'\moﬂia,
remaining. How much money did the club have at first?

b odnede = L et $aqg

e PHO, LS
950 TV 74 C
A X 554 +g‘§'l@o LS
3 ’%(o o 5
Tre cdulo e = N3 velore. ¢ uce\os r~1c~tw\¢\;\> c:,f\f\ofxfé.

4, So far, Carmella has collected 14 boxes of baseball cards. Each box has 315 cards in it. Carmellax
estimates that she has about 3,000 cards, so she buys 6 albums that hold 500 cards each.
a. Willthe albums have enough space for all of her cards? Why or why not?

Ao, Dhe. il net heve encugh foow, she p roboJoléS fofmcﬁed
bo_l_\q +h& number o8 bol ard the number SL eewrds

down 3@ ing 10 x300 = 3000, This woles her éé‘lle&I\Z/

—fo

VLG
oW many“?ards does Carmella have?

/%_J__ Carme\la. oot 4] O cord e
;T LLO
/5 )
77 10

¢. How many albums will she need for all of her baseball cards?

. 500, OO
T e,oum\imé LS00, 1000, 1500, 2000, A500, F000, 35 NL/ﬁoo
o
N HEOO F 500 d G alb
e |  she wllpeed H alownyg
Lesson 8 Fluently multlply multx d|g|t whole numbers using the standard ny
algorithm and using estimation to check for reasonableness of the
roducts. I e 2.B.76
o engage'” 287
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Name Date

1. Estimate the product first. Solve by using the standard algorithm. Use your estimate to check the
reasonableness of the product.

a. 283x416= IQO! X90 283

x 416

L300 < 40D | 98
-_ 120600 H %
'7

& 32
;2

b, 2,803x406=_] QOO,DOO | 2803

' x 406
:3/.000 x _HOO b3S 1S

00000 1121209
I 8016

Lesson 8: Fluently multiply multi-digit whole numbers using the standard

COMMON algorithm and using estimation to check for reasonableness of the ny
- CORE products. enga.ge
Date: 7/4/13
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Name

1

reasonableness of the product.

Date

~ Lesson 8 Homework [&h 1)

Estimate the product first. Solve by using the standard algorithm. Use your estimate to check the

a. 312x149

h. 743 x295 c. 428 x637
=700 X300 = oo XboO
-l L - Ziooos
' 743 g
312 _,y;__.g_‘}_%, % QWIL«—

x 149 3715 QQQEC) b
POt 668 70 2y 0
248 114 SO0

H-31ap0 7,2101}8’5) YAS (% 00
EPXER ) A1l
d. 7691 x 305 e. 4,208 x 606 f. 3068x52§
=700 ¥ 800 = Y4 000 ¥ 0D = 3,000 %500
- 210000 o4 < 00000 t500000
5 o0& Y09 %008
SIEE X600k X522 L
1 G50 18 qa04
2009 3%00 o b0
RS 252 4€ 00 1360
y ’ Y& 15340 O~ L
255 0,0 = T
) [boH5
g. 430x3,064 h. 3,007x502 i. 254 x6,104
’”00\‘5'0 00 —3000)‘5 23590%(4000
= ,200000 lb pgp 00 = 1500000
55%2 300 @loz
X “ ¥ 602 | ¥as
q7a40 ToTF | el
Y IM )
124 5 b 503500 | 5355200
317,520 | 15093 Y 12.3080,_,5”
TEEOYH |
IE 88{_\{/}51\/‘0[\1 - ) E%E};? and using estimation to check for reasonableness of the engag.eny ‘2;878—
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2. When multiplying 1,729 times 308, Clayton got a product of 53,253. Without calculating, does his
product seem reasonable? Explain your thinking.

M s chdu\cﬂ— ' noY feosonolole. vecc G €
6o Lockor 1 e IOO0's Ves oo Cac o
W e oo s o\l %\)Q’ \@ug o Qr@ducgr
N e 100 000 &

3. A publisher prints 1,912 copies of a book in each print run. If they print 305 runs, the manager wants to
know about how many books will be printed. What's a reasonable estimate?

QNS LQCID&C)QQ w@i@,,é Vs 0w

NS ( N
X B Cecsonalo\e E,f:;\‘\ w\&,‘xfi{w,
(o © 000 o
’ Lesson 8: Fluently muItipiy multi-digit wholke numberé using the étandafd .
COMMO N algorithm and using estimation to check for reasonableness of the ny
CORE products. enga.ge 2879
Date: 7/4/13

This work is licensed under a

® 2013 Common Core, Inc. Some rights reserved. commoncore.org Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.




 NYS COMMON CORE MATHEMATICS CURRICULUM —~Lesson 9 Problem Set

Date

Name

Solve.

An office space in New York City measures 48 feet by 56 feet. [f it sells for $565 per square foot, what is

the total cost of the office space?
SqeYs, A M space cot
il THI0 21 518,720

;‘i =
+29Y 277280
Wsi 4, ﬁﬁ% 2%

2. Gemma and Leah are both jewelry makers. Gemma made 106 beaded'ﬁg’cklaces/Leah made 39 more

1.

§

g8+

necklaces than Gemma.

a. Each necklace they make has exactly 104 beads on it. How many beads did both girls use altogether
while making their necklaces? ¢ /Ob / 45} 1/ OA ‘/
S X/0 X 104
Gtmma. [_joe__ 1~ X104 | 5 / 7 {,,?;ﬂ.gig
‘ AN H 2 72T 550 O
Leah [ TZzlge__ ] X0 /Oé Jo /| 459 0 24

17 o S - Z? I~ '/
\/?'}la”j‘;r*ji amﬁ'@?é /0§fbfad3 J 5, o0&
b. At a recent craft fair, Gemma sold each of her necklaces for $14 Leah sold each of her necklaces forr? %0
10 dollars more. Who madeﬂmore money at the craft fair? How much more? S (8’6

A Loy
Cremma\,\ﬂl)u/ fA.A/\ 4?& w - /‘7‘?‘%
Leah iz ‘ *'m T30 7770
Leah made ¥/, 996 more. 1 089 2900,
“ T FFHE 0
3. Peng bought 26 treadmills for her new fitness cent{er at $1,334 each. fhen she bought 19 stationary bikes
for $749 each. How much did she spend on her new equipment? Write an expression, and then solve.

ey

£ &ty Y
L334 X206 749X 19 200 44 ?%»Z x’/mf
/334 749 14330 Y, 915

X /9 //ef? ?/@

Y A&
~F%5Y T [
:gmé XA 7490 | |
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© NYS COMMON CORE MATHEMATICS CURRICU!V.‘U:M e o " Lesson 9 Problem Set |

4. A Hudson Valley farmer has 26 employees. He pays each employee $410 per week. After paying his
workers for one week, the farmer has $162 left in his bank account. How much money did he have at to

begin with? K

focrmecs & WL’QDKE}M \*‘3’%@ a& e Locmer Deaon
uori\n é\’\(ﬁ)“f&g}“

+16 10, (ol
_ A 2o + d’!c_o;l
4»%2{80 < !C), 3/15) &

O .
5. Franées 1s'sewing a border around 2 rectangular tablecloths that each measure 9 feet long by 6 feet wide.
if it takes her 3 minutes to sew on 1 inch of border, how many minutes will it take her to complete her
sewing project? Write an expression, and then solve.

q 2% Cc\ltc\l& Lo (o) X | b X Doy |

(p \\_’_’/\@ (;2)(< |50y« \’9&—\\ X | 2inX  Smin

A ax 208 o 1xin x Dmin
Lo L+ % 12 in x Smin

=120 v A Deniva
6. Each grade level at Hooperville Schools has 298 students.
| le ‘ es
a. Ifthere are 13 grade levels, how many students attend Hooperville Schools? o O A nu*

243
e 28 M students

¥ au adtrend &\m@ﬁc“d\\\g “\noe 5
+aLx 80

JEUNENURIIR SN S

238

b. A nearby district, Willington, is much larger. They have 12 times as many students. How many
students attend schools in Willington?

5,94 o 45 Aoderces
Ay eN Axbend Wik Yon éc;\«\QQ\s
TN SB
+ 3% U O
LWbUg3
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© Lesson 9 Exit Ticket

Name Date

Solve.

1. Juwad picked 30 bags of apples on Monday and sold them at his fruit stand for $3.45 each. The following
week he picked and sold 6 bags more. -
a. How much money did Juwad earn in the first week? 3/, L) b

3,45 r30 Y 30 310&5“
11035 °

b. How much money did he earn in the second week?

5Lg
3,45 136 AL
gg@
é’l

ﬂ,m.asaw

c. How much did Juwad earn selling bags of apples these two weeks? ' (
¥ 124,90 £222.50
GO
202, /4 0
d. (Bonus) Each bagJuwad picked holds 15 apples. How many apples did he pick in two weeks? Write
an expression to represent this statement.

(20+3b) X 15

COM MON Lesson 9: Fluently muitiply multi-digit whole numbers using the standard
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~ NYS COMMON CORE MATHEMATICS CURRICULUM L ‘ Lesson 9 Homework

Name Date
Solve.

1. Jeffery bought 203 sheets of stickers. Each sheet has a dozen stickers. He gave away 907 stickers to his
family and friends on Valentine’s Day. How many stickers does Jeffery have remaining?

| 142t
03 A ABb f .
)gg_l%. 401 Bﬁe;‘%z{;e;\\l Voo \ ) 39 &h @Ke,rfa
G T:.-—M""”‘""’""‘ v
x2030 1534 (emainira.
PEEYY
2. During the 2011 season, a quarterback passed for 302 yards per game. He played in all 16 regular season

games that year.
a. How many total yards did the quarterback pass for?

ﬁ% Quarkedoack Paﬁ;ﬁiﬁa Cor ool o7

é%gg ) 4,453 Ymrc\:s.
HE2

b. If he matches this passing total for each of the next 13 seasons, how many yards will he pass for in his

L\ 'q’?%w He will PASS for 6816 YMCLS
. AL%E{%OE W NS career.
- At

career?

3. Baosaved $179 a month. He saved $145 less than Ada each month. How much would Ada save in three
and a half years?

179 299 324 2484 i, 664

___‘,:-l-?/ ,,:/:_,.l}_w L 1 lgmmém \;O‘L‘L&
] foen. G4 g \TTT/ 2ge. (1,660 3. W

2 "%‘&/Yf- Ada will save 13403 in 'V&ymf‘:’b \
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 NYS COMMON CORE MATHEMATICS CURRICULUM -~ Lesson 9 Homework

4. Mrs. Williams is knitting a blanket for her newborn granddaughter. The blanket is 2.25 meters long and
1.8 meters wide. What is the area of the blanket? Write the answer in centimeters.

6:2759?5}')7 X /00: @2*’-2\5”(’,"?‘7 gg&ﬁﬁ 7%? aQréa 0’7&
L&m X, 00 </FOCm X 1 &9 | Let s

7Helx w /& & o
+ 22 509 40,500 <guare La
m—,‘_‘—j £33 &
5. Use the chart to solve. v @jé ad)

Soccer Field Dimensions

FIFA Regulation New York State High Schools
(in yards) (in yards)
Minimum Length 110 100
Maximum Length 120 - (120>
Minimum Width 70 . 55
Maximum Width 80 (80
a. Write an expression to find the difference in the maximum area and minimum area of a NYS high
wschool soccer field. Then evaluate your exp;’e‘j;;; Q({@ (j‘)C} 77;{3 @/ f?‘:%;ﬁf (@‘fﬁy?&t 2,
i 4 - i A
HMag, 120% 809600 - s%00  in She max, s

" spyels Y £, =) e
Min. so0x55 = 55@%;:&@0 MW z;/;. G P, ;,’g

g4 j0dy, s
R 7Y 41000, YIS

b. Would a field with a width of 75 yards and an area of 7,500 square yards be within FIFA regulation?

Why or why not? -
y or why no 7.b X 700 = ’7/5'0 O

Widihy o 15 yds - ‘ .
) Mﬁ:g ;} - !jg jég I\/OI “The \‘@ﬂj\{}‘f\ S te) f acdg u}é‘%?fﬁ‘m
ength o i Jesg Fhan Yhe minimum lengti

" oo Lo yolS. o el (wi
It costs $26 to fertilize, water, mow, and maintain each square yard of a full size FIFA field (with

maximum dimensions) before each game. How much will it cost to prepare the field for next week’s
t h? . ey, . o " IR
mate M(Zl‘«,u um Dimeéasioas [ Oy cls % E‘C‘)\/c@% = 9 ( 00
J 54, \/OfS
/

X oy s e | '
~_‘@“""“8£ T will 0 oxk¥2 49,600 prepare +Hhe -@'e\d
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